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DIRECTIONS
Do not open this booklet until you are told to do so.

This ig a test of your competence in Plane Geometry. IFor each
problem thers are 1listed b possible answers. You are to work the
problems, determine the correct answer, and indicate your cholce by
maeking a heavy black mark in the correct place on the separabe
answer sheet provided. A sample follows:

1. The sum of the angles of a triangle ls:

(1} 360° 1T 2 3 5
(2} 45° e b1 buo1y |1
(3} 900 clon b L
(4) 180° T B .
{(5) g70°

The correct answer for the sample gquestlion is "180°", which isg
answer (4); so you would answer this question by making a heavy
black mark wnder space 4 as Iindlcated sbove.

If you should change your mind about an answer, be sure to serase
completely, Avold willd guessing, as wreng snswers counbt against you.
Do net mark mere than one answer for any propblem. Make no stray marks
of eny kind cn your answer sheetb.

When told to do so, open ybur test booklet to page 2 and begin,
When you have finished one page, go on to the next. The working time
for the entire test ia 80 minutes,



Khich of the following is not s parslillelogram?

(1) Square

{(2) Rhombus

(3) Line joining midpcints of successive sides of any quadrilateral
(4) Rectangle

(5) Trapeszcid

Two triangles are sgimllar If

the difference hetween corrssponding sides is constant,
two angles of one triangle are equal to two angles of the
other triangie.

they each have a right sangle.

the sum of the angles cf each trlangle equals 180°,

thelr perlmeters ars sgual,
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The legs of a right triangle are 5 and 12 unlts long. The length
of the mefilan Lo the hypotenuse 1is
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In the figure arc AB = 450, arc CD = 352, then angle AOB will be

(1) 40°
(2) 450
(5} 38°
(4) 80°
(5) 10°

D is any point on the base BC of trisngle ABC. Polint P divides
1ine segment AD such that AP/PD = 2/5. As D moves from B to C,
the locus of P 1is

(1) a circular arc with center A,
(2) a chord of the circle inscribed in triangle ABC,
(3) @& chord of the circle circumscribed about triangle ABC.
(4) a line parallel to BC. A
{5) none of the above answers,
| P
B £y C
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The front wheels of a wagon are 2 feet in circumference and the
rear wheels are 3 feet in circumference, How many feet has the
wagon traveled when the front wheels have made five more
revoluticns than the rear wheels?

(1) &4
(2 30w
(3) 36w
(4) 487
(b)Y 60w

If two triangles are similer which one of the following will not
be in the same rabic as the corresponding sldes?

(1) the bases

(2) the al%itudes to the bases

(3) the areas

{4) the medlans to the bases

{(5) the radli of the inscribed circlas

-]
4y
A square, inscribed in a circle whoase dlameter is 6., Tnrie ares of
the square 1ls

(1) 12
(2) 9
(3) 18
(4) e7%
(5) 673

Which one of the following staebements with regard to a circle 1is
not correct?

(1} An angle Jinscribed in a semicircle 1s a right angle.

(2) Two chords perpendicular to & third chord at 1ts extremities
are egqual.

(3) If a quadrilateral is inscribed in a circle, the opposlte
angles are supplementary.

(4) A AQiamster subtends the largest Inscribed angle.

(5) A chord perpendicular to another chord at its midpoint is
always a dlameter,

Given straight line segments AB = 8 and BC = 6 and angle A = 60°,
This given data will determine

one scalenea trlangle

one isosceles triangle
twe different triangles
no triangle

neone of the above answers
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In triangle PQR, 1f angle Q is greater than angle P, 1t follows
that slde

(1) PR 18 greater than QR
(2) GR 1s greater than PY
(3) PR is grester than QR
(4) QR is greater than PR
(B) PR 1s greaber than PQ

The sngles of a triangle are Iin the ratic of 3:5:7, The largest

angle has

(1) 91°
(2) 849
(3) 83 ;
{(4) W70° ”,
(5) 77° :
The circumference of a circie is 72, The length of an arc of
150 is
(1) 3
(2) 24/5
(3) T
(4) 6
(5) B
In the figure AD bisects angle A. If AB = 20, AC = 25, and
BC = 2%, then BD eguals A
LQ 12,C 25
(&) g.0
(3) 13.5 z0
(4) 10.5
(5) 11.0 . 7/
B ) C
In the figure, if EB = 4, and CE = 8, and ED = 5, then AT equals
(1) 6.4 Vo D
Ezg 7.2
5] 8.0
(4) 9.6 B
(5) 10.0
A
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The length of a rectangle ig three times the wldth.

If the

perimeter is 48, the area 1s

(1} 108
(2) 96
{3) e
(4) 120
(5) 105

The areas of two circles are in the ratio of three te one. I[F

the radlus of the larger circle ia 6,

clrele is

(1) 1.5
(2) 7%
(3) 2.0
(4) 27%
(5) 2.5

the radius of the smallerp

If the two parallsl sides of & trapezoid are 23" and 27" ard the

area is 250 sq.

in., the distance between the parsllel sides 1isg

(1) 10.0" -2
(2) 5.0" i
(3) 13,8" }
(4) 15.0" !
(5} s8.0" {
27
In the figure, AP is tangent to the cirecle and PP is a secanb,
If angle P = 13° and arc n = 39Y, arc m equals A
(1) 52,09 e
(2) 55,50 P oz
(3) 58,0°
(4) 62,59
(8) 65,0°

In the figure AE = 2, BE = 4, then CE equals

Zt:-&‘]c?;?&" A
&

v
n
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Each angle of a regular polygon is 144°, How many sides does the
polygon have? :

(1) 12
(2) 9
3) 24

4) 10
5) None of the above answers

ABCD 1ls any gquadrilatersl, MNPQR are midpolnts of the sides. 1If
diagonelg AC = 12 and BD = 13, the perimseter of MNPQ equals

(1) =4
(2) 25
(3} 286
(4) 36
() 39
A < B
In the flgure, if ED is parallel to AC, the yalue of x 1s
) S C
(1) 7.8
(2) 8.0
(3) 8.5
(4) 9.0 ‘2
(8) 9.5
'8 ;

The diagonals of a rhombus sre € and 10, Its area 1is

(1) 60
(2} 45
() 36
(4) 30
(5( 20

In the figure, if PD = 4, DC = 10, PB = 5, then AB eqguals

(1) 8.0
(2 6.2
(3) 6.4
(4} 6.6
(5) 6.8
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In the figure, 0 ls the center of the circle. Angle ADB = 420
and angle BOC = 31°,

1159
73°
56,59
200
350

The number of degrees Iln arc ARC 1is

In the figure, AB is parallel to CD. If angle AMP = 40° and
angle DQP = 115%, angle MPQ equals

A e B

c ﬂﬁ \uﬁ D

Which one of the following statemenbts is not correct?

(1)
(2)
(3)
(4)
(5)

The line of centers of two inbtersecting circles 1s perpendlcular

Lo thelr common

chord,

In the same or egual circles the greater of two unequal
chords lies nearer the center.
The tangents drawn from an external point to a clrcle are

always equal.

If two circles sre btangent, thelr line of centers passes
through the polnt of contact,
4 tangent line can slways be drawn from & gilven pcint to a

gilven c¢lilrcle,.

The center of a circle clrcumscribed about 2 trilangle ls the

(1)
(2)
(3)
(4)
(5)

inbersection of
intersection of
intersection of
midpeint cof the
intersasecticn of

the medlians.

the altltudes,

the perpendicular blsectors of the sldes.
median to the hypotemuse,.

the angle blsectors.

The radlus of the lndlcated circle is 15, Arc AB subbtemds a 48°
angle at the center.

(1)
(2)
(3)
(4)
(5)

367
a0
249
i8w
iz2wr

e srea of secter AQOB ls

o~
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The radlil of two concentric circles are 5 and 13. A chord of the
larger circle 1s tangent te the smaller circle, The length of
this chord is

(1) 18
(2) 23
Y
(4) 25
(5) 30

The avea of a triangle having sides squal to 5, 6, 7 is

Y iE
2} 5

(3) 17
(4) w95
(5) 598

The locus of the cernters of all circles tangent simultanecusly
to sides AB and AC of trliangle ABC is the

(1) perpendicular bisector of BC

(2) median from A to 30 extended

(3) Dbisector of angle A
(4) circle having BC ss dlameter
{8) clrcle inscribed in triangle ABC

A clrcle of radius 10 is circumscribed about a triangle ABC. If
AB = BC = 10, then the area of the triangle 1is

(1) 50

(2) 2572

(3) 257%

(4) 40

(B) Xone of the abcve answers

In the flgure, CO = r ls the radius of a semlicircle CBED. ABE is
a stralght line with AB = r, If angle EOD = 75°, angle BAC equals

(1) 215°
(g2) 20°
(3) 28°
(4) 30°
{5) None of the above snswers
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In bthe triangle ABC, peint 0 1s the intersectlon of bthe medlans
AP and BR., If 0Q =3 , then CB equals

(1) 3,0
(2) 3.5
{3) 4.5
(4) 5.5
{8y 8,0

The largest pogsslible area of s righv

(1) 100

(2] 50

(3) 25

(4} 1042

(5} WNone of the above answers

In the figure, lines AB end AC are

G ..Jm

radius 6 and sngle BAC = 60°, The area of

(1) 36f5 - 1%

(2) 12 (V& -)

(3) 108 + 2f% - 12w
(4) EB4 « 9TF

()

None of Lthe above answers

In the figure, the ares of trisngle ADE

trepezcid BDEC, If BC = 12, bthen DE

(1) 6

(2) 36

(3)  o¥g

(4) ef2

(5) None of the sbove answers

Bach side of the given trisngle squals k.

aqaals

;Le with hypotenuse 10 1

tangents te the circle of
the shaded reglon ls

aquals the area of the

A

\\

lﬁ)

s S

is any peint inside

the triangle., The sum of the perpendicular dthdnue from P bte

each of the three sides aguals
(2] % VE /2

2 k V2 /2

(3) ¥ V3 /2

(4) % ¥3

(5) x V2

2]












